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Note : (1) This question hooklet contains 100 (hundred) questions in &il
130 in Beotlon -A and 70 in Segtion.~ B). Attempt as many
‘Guestions as you can. Each questions carries 3 marks. One mark
@il be deducted for each incorrect answer. Zero mark will
& av-gRear ¥ g 100 () s ¥ (emes-wr ¥ 30 7
- 3 90+ arfemitr Tt @ B B0 9 S | Tl
7eT 3 () mﬂmtlmmm#mawm'
BT | T IryeR W W g B

(2) If more than one alternative answers seem to be approximate to
themrrectanswer ¢hoose the tlosest ona.
@mﬁmwmw%ﬁwnﬁﬁﬁf Eﬁf:lﬁ-rc’a#
W s ¥
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O1.

02.

Section - A
GuE - 3

A student asks a question from his teacher and his teacher is not
able to answer what teacher should do ?

{1] He shouid say that he will answer after consultation.
(2) He should scold the pupil.

(3) He should say that the question is useless.

{4) He should tell the student that it is not of his standard.

UF B SIUY S1ATIE @ U U 951 & oK SUh STeAIE I
3 F e AS R A ofenasm @ @ BT ARl ?

(1) 3™ 95 Hewr (Y B 96 SHH Iad H=N B I I
(2 I® B F EleAr @ed |

(3) IV wHEAT TiBd 5 UsH FRT @ B

(4) 3T BE Y Fer @ed BF g9 SEh @Y & e

Which one is not true for a tcacher ?

(1) Teacher is the leader of his class.

(2) Teacher is the manager of his class.

(3] Teacher is the dictator of his class.

(4] Teacher is the facilitator of learning of his class.

o 1enaE B fg e v qd 2 7

(1) SyEATIe -39 e T T A & |

(2) SeqeR SIS AT T SIS el € |

(3) FEAUE ST AT H ARAF B T

(4) Seia S FE A SRe gEnd g ar am ¥

4
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03. When majority of children become restless, disturbed and disobedient
in the class, the teacher should examine ;

(1) Influence of outside elements i class
{2) Home environment of thé learners
(3) Co-curricular and other attractions in the school
(4) Subject knowledge and teaching method |
o Srfpei W=t war & 39w, st S s @ @ srena
-ﬂfi? T & oifeem iRy .
(1) T&m & aEd a=f & 99T W
() SEf % 9%y IEERer |
(3) T & omreETel 9T S srEtor &
() Brem s oo ssEme Ry @

04. Authioritatian teaching behaviour is more suitable for :

(1) Confidence (2) Discipline.

(3) Achievement {4) Improvement
TaERy Rmor weeT few § ¥ oo R ouge ¥ 7
(1) THfTEm (2) SAFIET

(3) Suciey & (4} S

05. - The major objzctives of education is :
(1) Refnmﬁi:g the society °
() Making students discipline
(3) Developing inherent abilities of students.
(4) Making students followers of teachers

5 P.T.O.
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06.

07.

(1) &AT ¥ gar s

() BRIl B STHAHT BT

(3) ol # ffeq amaredt @ R woT
(4) o= #t et w1 ARl &

Discipling means :

(1) Strict behaviour (2) Severe Punishment
(3] Obedience (4) Going by rules
HATATET T AW 8

(1) ¥ =98 (2) ST I

(3)  SATSBITET 4) Mt & STER

Mohan is a student of grade 4 with visual deficiency. He should be :

(11 Excused to do a lower level of work.

(2) Helped with his routine work by parents and friends.

(3) Treated normally in the classroom and provided support through
Audio CD's.

(4] None of the above.

e FHET 4 1 O BE 8, U gftcare 2139
(1) s & 3 o & @ wmp @ S =i )

(2) e AT HET & Ry et gur el B gera EEH
qIied |

3) ﬂmﬁ.ﬁ.ﬁmﬁwmﬁwwﬂmm

W =ed |
H{m‘ﬂﬂﬁﬁﬁiﬁ!ﬁﬂ'ﬁl
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10.
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For inclusive environment in language class, it is necegsary that :
(1) All needs of the students should be taken care of,

{2) Students should be taught many languages.

(3) Students should be:given various audio-visual aids,

{4) Too humble attittide Ehmﬁdh&kept towards students.

- & FAN e & R ored & R

(1) ot & T SRS W eI TET S|
(2) ool @ wf wd ogEl o

(3) et 2 R g arel sows 08 W
(4) m%nﬁmﬁwmwm&:

» Which of the following is.a quality of motivated teacher ?

() ﬁ.__ @) Goal diréctod behavious
(3) Dissatisfaction’ @ Sup&rmn@ﬁmph:
ﬁwﬁﬁ%—mwﬁﬂaﬁs&wﬁr@m{%? .

) owgE . @) e PR sEER
(3} oTEaN 4 A & sEe

The most effective method of behaviour modification in children :
(1) Positive Reinforcement

(2) Corporal pmuahmmt

(3) Cmnuelling

(4) Giving apipropriate hame assignment

mﬁ%wqﬁaﬁw%ﬁﬁmﬂmmm%
(1) EHTHSH Jrelery (2) sHAfE gvs
3) yes @) SugE e e A

Ly '(7 % Pl-Tla. -
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11,

12,

13.

14,

In which year [ndian Parliament enacted RCI Act ? -

(1) 1986 (2) 1992

{3) 1993 (4) 2000
W{ﬂhﬁﬂa%ﬁﬁﬁaﬁm.%ﬁ.aﬁ.leﬂﬁﬁwm?
(1) 1986 # (2) 1992 #

(3] 1993 & (4} 2000 F

Facilities of Education in Mother Tongue is given in :

(1) Article 350(A) (2) Article 300
(3) Article 45 (4) Article 56
AT ¥ frer @ gRed & W © .
(1) ST=B= 350(A) ¥ (2) STg=8E 300 H
(3) IFFRT 45 H (4) g 56
SUGAMYA BHAR:%T ABHIYAN is related to :

(1] Divyang {2) Women

(3) Children (4) Young people
T AR SIS gy ¥

(1) Rt @ (2) wfRewed 4
(3) s q (4) Zawdi A

Which one is not the aim of BETI BACHAQ, BETI PADHAO YOJANA ?
{1} Prevention of gender biased sex selective elimination

(2) Ensuring Job opportunity for girls

{3) Ensuring education and participation of the girls child

{4) Ensuring survival and pmtactilcn of the girls child



15.

16.
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Prer & & X w39 vl Ao ode R 0
(1} S8 SAUI 9 SRRe R eaerern Swe o dear
(2) SRR 7 ARl & e gl |

(3) siwsielt A R AR wewPrr gl W

¢ il & it o gon B ghfeT s

A review of NPE-1986 Programme of Action [POA]wasdtaneb}*
(1} National Commission for teachers

() Yashpal Committee

(3] Ram Murtl Committee

(4] Hamsa Mechta Commitiee -
W"ﬁmmﬂﬁaswmmwaﬁmaﬁwtﬁ: |
(1) e & R oshie swie &

2] =wwE 8 T

@) ot = me

(4) ¥ Few #AA F

pmlﬁbmon:af ﬁlmriammhmen mm‘:du nf rcli'giﬂn racr:, i:astﬂ, sex

{1) Article 14 . (@) Article 15

(3) Article 16 : {4} Article 31
ﬁﬁﬂmﬂ-%m%ﬂf&an%ﬁmmﬁﬁ Y, e,
mm-mmamﬁmmmw

(1) orgedx 14 . @) wy=a s

{3 ogedR 16 T W) oTyed o

s P.T.0.
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17. Objectives of education are decided by :
(1) Philosophy of Education
(2) Sociology of Education
(3) Psychﬁlcg:,- of Education

(4) Measurement and Evaluation

WWWWW%:
(1) T = (2) T @ gAITATE
(3) Tarr =1 AEEA (@) AT ol TR

18. Which one is not included in objectives of Right to Education
Act - 20097 |
(1) Announcement of Education as Func_lamcntal Right of Children
(2) Establishment of School Management Committee
{3) To encourage democratic dicentraligation at school level
(4) ‘To improve the quality of higher education
ﬁlﬁrﬁraﬁ&iﬁaﬁﬁw—zﬂug%aﬁsﬁﬁﬁwﬁﬁwmﬁa
@ ¥ 7 |
) R % et o e s AR BT

10
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19. NIVH is located at :

21,

@) 12 (4 13

(1) Dehradun (2) Delhi
(3) Shimla (4) Mussoorie
(1) SEEH (2) feecht
@) Rwer @ =g

(1) NCTE . @ ra

Iﬁa}' 1 ;]ii-._,-. .a.!., A {4!} _.I . y

Prer % & R R & R &9 & -l g o d ?

(1) .. 4, & @) . 4. .

3 1. /. §. anv. &, 4 o o W@ #. §.
Sk

: . w‘i."-.
Find out the missing item from the following :

m w0 AR STS

11 P.T.0,
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22.

23.

24.

Find out the missing item from the following :

Pt 5 & g9 o8 T\ B

13|64
6|8|6
i[e[?
7 (2) 10
3 8 | (4) 13

Average age of three individuals is 60 years. The age of first individual

1 :
is E"’ of other two individuals. What is the age of first individual ?

ﬁqwﬁaﬁ#%mmaﬁﬁlqﬁmﬁﬁzﬁaﬂgmﬁ
# omg A 5 ¥ TR B ong N 7

(1) 45 (2) 40
(3) 36 (4) 38

Among 49 students in the class Kareem's position is 16" from the
top. What will be his position from the bottom ?

{1) 32+ (2) 33

(3) 3em _ (4) 34%

49wt 3 ey B O @ e i & 16d F 1A # IHH T
T B 7 | |

(1) 324 (2) 33at

3) 3640 (4) 84d

12



25.

26.
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What is the 7' letter at the left of 18%® letter from the left in English
Alphabet ?

ST o § o A 18F orew B &1 79 oy 9 By 7
(1) K , 2) Y
(3) L ' “) M

At 8.30 PM what will be the angie of long hand and short hand of the
chck‘? .

| T W o Y S 92 o P A e B A o A

27.

28,

T B ?
(1) 90 | (2) ‘750
(3) 60° (4) B850

Directions : Choose the graup of letters which is different from others
of the following : :

o mﬂﬁmmﬁmmaﬁﬁqﬁgﬂﬁ%ﬁaﬁ
(1) BD 2) IK

(3) PN | @ su

Directions : Choose the group of letters which is different from others
of the following :

orifer - mﬁ%mwﬁﬁwaﬁm&ﬁwﬁ
() BCD | (2) KMN
B RS - qm

13 P.T.0.
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29.

30.

Student got twice as many sums wrong as he got right. 1f he

atternpied 48 sums in all, how many did he solve correctly ?

Eﬁﬁzﬁﬁﬂﬁnﬁq@rmﬁﬂﬁaﬂ%mwmwaﬂ%m
W%luﬁqﬁﬁaﬁﬁmw%ﬁmﬁﬁﬂﬁﬁﬁwﬁﬁ?
(1) 12 2) 16
@) 18 @) 24

In a garden, there are 10 rows and 12 columns of mango trees. The
distance between the two trees is 2 metres and a distance of one
metre is left from all sides of the boundary of the garden. The length

of the garden is :

ae T F 10 ST A 12 i damaEn AW SITA A
QW%WW%ﬂWﬁWﬂ@WW%WﬁW
2

(1) 20m @ 22m

(3] 24m (4) 26m

14
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SECTION - B
i -

31. Which of the following.s.a nataral antioxidant 7

(1) Citric apid . (2) Acetic acid

(3) Mmrhic&nid - {4) Sorbic acid

Freiifee & & W wr uigRe ofy sfedies & 7

(1} wefm orm (2) uHifees o

(3) CwmiHE o ) afF o
3&. The substance'responsible for jelly making in frniitg is ;

(1) Protein .- @) Phytin

(8) Peotin . (4} Carotene

v & mftery St I R FwErd et %

1) 8T (2) R

©) AWem N @ ¥R

- {4) Al agriculture produce
... R Pt # Rar o @
(1) . & ST et @ At oy

34. A smali, chlong, metal dewoe with teeth which carries the material
along as it is sﬂ%ai;ed

(1) Feed dog | (2) Bobbin ;ﬁnﬂér'
(3) Throat phte. (4] Pressure foot

I's P.T.0,
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35.

36.

37.

o BT, ST gE 61 H YT S FS W e B

a8 I Gol &, HEAl 8

(1) s 2 (2) sfe agsY

(3) & @ {4) NI B

Finger in which thimble is worn during hand stitching is :
{1} Lengest/middle finger (2) Smallest finger

(3) Thumb (4) Index finger

e o AT @ TFA e ge o Al Siedl @
(1) v W o AEE (2) B AT

(3) Srer (4) weeh SIS
Fullness in garment can be achieved by the use of :

(1) Darts (2) Pleats

(3) Tucks (4) All of the above
o & Preftag 3 s & 3 e R o @A §
(1) I 2) whE

(3) & (4) I a
Maheshwari and Chanderi sarees are from :

(1) Delhi (2) Ahmedabad
{3) Hyadrabad ~ (4) Gwalior
m%&aﬁaﬁtﬁﬁmﬁ?ﬁﬁmﬁfﬁﬁﬁwmiﬁﬁt
(1) faa_iﬁ , (2) SEHAER
(3) BT . (4) T@EIwEL

16
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39,

41 L)

17U/95/14{1)

Best iocation of kitchen in a house is :

(1) East (2} West

(3) North ' _ (4} South

uT & e ot wdiay Rafy ¥

m g | ; (3) e

(@} T (4) uf

"The surface structure of & material is known'as: -

(1) Pattern . (2 Testtre

(3 Design (4) Textile

et aRg B wve G weenh ¥

ot @

(3) oy (4) Freera

Which of the following is the function of communjcation ?

(1) Information (2) Instruction

(3) Persuasion {4) Allof the above

Pl # Ay s mr s e B 7

(1) gE () oTRw

(3) - dreems @) oegm weh

An agericy of India engaged in periodic diet and nutrition surveys ia

(1) ICAR L (2] NNMB

(3) WHO @) PR,
17

P.T.0.
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vmﬁwﬁﬂwmﬁaﬁmﬁmmﬁmﬁw%:
(1) g H.u.er. (2) .0
(3) S=g.E.sq (4) TH.G.3.

42. Dyarchy was introduced in India by which one of the following Acts ?
{1} Indian Council's Act, 1892

{2) Indian Council's Act, 1909

(3] Government of India Act, 1935

(4) Government of India Act, 1919
Wﬁgﬁﬁaﬁmﬁaﬁﬁﬁﬁmﬁﬁﬂﬁ?ﬂmmmm
o |

(1) wrem Hitae i, 1802

(2) =Rdm Bifgew afafad, 1909

(8) T wERR H S, 1935

(4) IRa gYHC @ o, 1919

43. When was the Universal Declaration of Human Right made ?

(1} 10 December, 1948 (2) 25 December, 1948
{3) 15 December, 1948 (4) & December, 1948
qEE AR B N Be @ T ?

(1) 10 Rewe, 1948 @) 25 Ra=T, 1948
(3) 15 Re=x, 1948 (4) 8 FEE=Y, 1948

44. Which one of the following in not a political right ?

(1) Right of vote
(2) Right of form political parties
(3] Right to freedom of speech and Expression -

(4) Right to join political parties

18
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frfiiae ¥ @ @ o ToriE AR Tl @ ?
(1) woEFT & SR

@ TFifw T &R W SRR

(3) wEeT TR A e SR
) muﬂram@%aﬂm

. When was the Canatltuﬁﬂn of Ind::a. adoptad by 'lrhe Cenatammzt'

Assernbly ? :

(¥ 15 Angust 1948 @ %meﬁar -&M‘i

{3) & Dmmber_ 1949 (4) 26 January 1950

WG @R w9 wiEr ger s ol Rear P

(1) 15 SPTRT 1948 {2) 26 TIHT 1949

(3 5 ﬁﬂm: 1949 (&) 26 TEEE 1850

Which one of the fuuuwmg I§ fivt a CRBTSCteristics of sovereignty ?
{1 Indlviaﬁ%!at (2) Inahenab:llty

(3) Non-transferabifity {4), "Plarality

Prefofer & & F o5 drgen # R @ & 7

(1) awﬁmwm ‘ B TR

(3 - (4) TN

Who of the following is not a S6eTTCEMPemtyalist Thinker ;
;i]v Hobbes  (2) Montisquien

{3} Locke ) ~_];j&_.&,gg;s_a.:gu

s P.T.0.
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48.

50.

fFr=fafeae & @ ®F = amiores gastamant e T8 & ?

(1} et (2) AT
(3) fich (4) =

Who certifies a money hill in India ?
(1) Finance Minister

{2} Finance Secretary

(3) Speaker of Lok Sabha

(4) Governor of Reserve Bank of India

e ¥ on Al B P g e &7
(1) . =i

(2) e o

(3) T AT EH ST

(4) e & Ao 3 w1 e

Who said that the State is the "Mark of God on Earth" ?
(1) Plato ' (2) * Bodin

(3) Hegel (4 Gandhi
PraY T @ “gud oY dvaw @ A" FEl B 7
(1) < | 2) et

(3) B (4) e

Who is knewn as the "Prophet of Liberty " ?

(1) Bentham (2) J.S. Mill

(3] Green (4) Marx

20
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82.
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Y ‘Tl B I $ @ § e oy & 7
(1) o (2) Suy. P
() dr - {4) e

Which one of the fullawmg is not a feature of the parliamentary system
of government ?

(1) Close relahﬁnahiﬁ between E:'xecuﬁm and legislature
[3} Mm ISR El:{;-:"; ¥ r
(4) Perlodic election

(1) weRes o Refrs & i Prre o gy
(2 sfR = e

(3). TRFIRS Qemayar

@ WY O A AR g

Who is the Secretary General of the United Nation ?

(1) Antonio Guterres {2) Kofi Annan
(8) Butras Butras Ghali (4} U, Thant

NI TS B ey
(1) AR R (2) B s

(3) IRE g el - @), T iz

"--21 ' P-T-o.
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54.

170795/ 14(1)

Who of the following is the speaker of the Lok Sabha ?

(1) Meera Kumar (2) Shivraj Patil
(3] Sumitra Mahajan (4) Najma Heptullah
Rreafofgq & & 91 @ T B e B 7
(1) W I (2) RETS qied
(3) g T (4) FASTHT SO
Sec. 13 of Companies Act, 1956 is associated with :
(1) Membrandum of Association {2) Articles of Association
(3) Prospectus (4) Minute Book
g siffE 1956 3 9T 13 TRt ¥
1y ad= A1 FEm (2) SR
(3) wiEEReT 4) BT g%

§5. Which of the following is not floating asset ?
(1) Prepaid expenses (2) Bills receivable
(3) Goodwill (4) Stock
Ry § @ orerh aeak e ¥ ?
(1) yEI =4 (2) o= faw
@) Ry (4) el

56.

Grapevine Communication means !

(1) Restricted Communication

(2) Wide spread Communication

(3) Quick-Communication amongst mass

(4) Private Communication

22
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aﬁmaﬁm(ﬁ%ﬂﬁﬁﬁﬁq}ﬁﬂmﬁ%
(1) afesfFay g8

(2) e TEEeT
(3) m%wmﬂsﬁmﬁﬂﬁw
(4) =fRIRY Wi

87, Anexamgleni‘mrfable cost is
(1} Income tax . o {2), Direct~ labour
(3) Depreciation of machinemy.. 4 hegat mm

wﬁaﬁaﬁamwm%

(1) ST - : 2) e am
@) w8 g @) @FIrrh =g
§8. Overheads includes :
(1) Indirect material {3 Trdireet labour
(3) Indirect expenses (4} Al of the above
TRy # wftafag . .
(1} e A (2) oTTerEr s
(3) STHHE =g -{4) qqgigﬂvﬁ
"89. Capital consists pr‘tj:mse kind of Wealth other than... ... Which
yield income. s
(1) Free gift of nature (2) Labour
{3) Organization a4 Enterprise

*&f _ P.T.0,
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61.

62,

(1) "pfr & Figes YRR (2) =W

(3) HWeEH (4) IaH

Who wrote, the book 'Distribution of Wealth' ?

(1] Wickstead (2) Walras

(3) Brone {4) Clark

'Distribution of Wealth’ fopars fpa ferell 37

(1) e ' (2) @&

(3) = (4) AR

Who is propounder of "Principle of Maximum Social Advantage” ?
{1} Dalton (2) Knight

(3) Hawley (4) Walker
‘aﬁmm-m%m’iﬁrﬁqﬁmaﬁﬁ%?
1) SKrEA (2) TET

(3) o | (4) AT

A suitable average for testing the intelligence of atﬁdents is :
(1) Geometric mean (2) Arithmetic mean

{3) Median (4) Mode
sﬁ%ﬁmwaﬁwﬁﬁ%@aﬁrﬁm%:
1y e A (2) GHAFAL ANA

(3) AR (4) TETE

24
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ﬁ 4‘
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If the distribution > m > 2 thenitisa

{1) Symmetrical distribution _

{2) Moderately asymmetrical distribution. whose left hand tail is
longer,

(3) Moderately asynunetrical distribution whose right hand tail is

(4) Indeterminate distribution

o R T F 2omoz B A T

(1) wafdg ser - |

2) AR WP de P awl wr ot w8
(3) wReT Wbl der Rvasr wie W i o= @
(4) @Tmﬁﬂ]ﬁﬁﬂ?ﬁr@w

A consumier obtains the maximum satisfaction if he acts according to
the law of ........ ;

(1) Diminishing marginal utility (2) Even marginal utility

{3) Consumers suirpine . (4] All of the above

W U Y et T e S ¥ we L P
& STAR B e @ - s

(1} W Swafer g @ w-dE oWt g
(3) SRR 9 quq 4) IT0ET T=ht

Which of the following kings was known for his extre me gefictosity
towards the learned scholars and poets in ancients India P

W) Chandragupta Vikramagitya (2) Pritirical. Chauhan
(3) Bhoj ' (4) Vigraharajiv =~

25 1.0
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66.

67.

68.

oreaafer 3 & @ & rom A ST T & REet @ SR @ uf
9™ ISR @ BG AT TN 7

(1) == TEseiee (2) R e

(3) ot (@) famETe agd

The famous ruler Dhang represented which of the following dynasties ?
(1) Chalukya (2) Chandela

(3) Chola 4) Kalchuri

i § 9 fra o @ vt oS R 9 | B
(1) =g | 2) e

(3) < - @) wEgh

Varahmihir was :

(1) A scientist (2) A sculptor

(3] A painter (4) An astrologer

JUEHERT % |

(1) Femfem em (2) wfefre &

(3) FEER =@ (4) VO o

Whose name is-linked with the "group of 40 slaves” ?

(1) Akbar (2) Qutubuddin Aibak

(3) Razia ' (4] Htutmish

e R B e & R T e § 1

(1) T () HIIET D

(3y o - (4) gFogdHe

26
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69. Which amongst the following rulers of the Mughal dynasty was well

70,

known in the history of the Mughal architect >
) Jehangit (@) Shakjehen

(3} Akbar ' @ 1 . -~ ?;ﬁf-&r
W”‘““*Mﬁwm%mmﬁ
q B Tl e aET T ?

(1) s () st
(3) emt | (3) SEERAME TET
Why i ﬂ,mym 1707 impwstant is the history of India ?

(1) Grant of firmen to the British

(2} Bajirao appointed as Peshwa

(3) Death of Aurangeety

(4) Bhahu bécomes Chattrapati of Marathas
wRe % g & 1maﬁﬁﬁﬂaﬁ@3?
(1) SR @ S o Rar s

(2 Yl $o9g T IRivE @ Pl

(3) ohémm &t wy

(4) RS ey aesht @ g s

71. The third batle of Panipat was fought in the year :

LR R SR s e —
(1} 1760 (2) 1763 (3 1781 4y 1763

27 PT.0.
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72,

73,

74.

Peter the (ireat is an important name in the history of :
(1) Spain (2) Austria
{3) Germany (4) Russia

ﬁﬁﬂ%m%gﬁsmﬁ"ﬁaqgﬁ'wwm%:
(1) =+ (2) et
(3) orAt (4 ©H

The trading rights of the East India Company were abolished with
the passing of the.

(1} Charter Act of 1813
(2) Charter Act of 1833
(3) Charter Act of 1853
(4) Government of India Act 1858

(4) 1858 & ARG HTHT ayfarf=rad

The system of separate electorates was introduced in India by the :

(1) Indian Councils Act of 1892
(2) Government of India Act of 1219

(3) Indian Councils Act of 1861
(4) Indian Councils Act of 1909

28
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Wﬁﬂ%ﬁﬁfﬁ?ﬂ“ﬂﬁﬁﬁﬁﬁﬂﬁﬂ%’?ﬁ:
(1) 1892 % AT Riwx aifrgy & @rg
(2) 1919 F NG GHT AR T B
(3) 1861 % wieli aftes wleiPre & A

) 1909 % wrehw R sy & =

Kamagatamaru was the narie of a :

(1) Tribe (2) Rewolutionary
(8] Place 4} Ship
FIATTEATS 719 o _

(1) iy (@) IR
(3) T W . (4) TR @

The adjective of ‘SpontaxesusReyolution' is given to :

(1} Non-go-operation movement (2) Quit Tndia miovément
(3) Ciwvil D_isfﬁbadience movement (4) Bolshevik revohition

| gt i o oHe R S E P
(1) orEsghr e - (2) ARG BE A=
{3) W™ Haam WFrEs 4. iR i,

. The value of margmal pmduct of any factor of production is the

product of ;
(1) MFP*Pm;epcrumtoffanter
(2) MPP xMR

(3) ARP x number of units of factors used
(4) MPP xAR ™

29 P.T.0,
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78.

seqrEs @ fdl off T e STRERT AW YRS o @
(1) MPP x ORI 3 9y g% ST (2) MPP xMR
{3) ARP x €W 1 NET SHEAT  (4) MPP xAR

Under perfect competition, price of product is determined by !
{1} The firm (2) The industry

(3) The product market (4} The Government

ot SRR # avg B A FrRe o @

(1) ®H & (2) TENT B

(3) SO 9FE &l (4) | T

79. There is exploitations of labour under imperfect competition

80.

become :

{1] MRP = wages

(2) MRP=ARP

{3) MRP is greater than wages

(4] MRP is less than wages

St sRARTT & A @ ST g & o -
(1) MRP = Go1gd

{2) MRP = ARP

(3) MRP AoEd & o Bl ®

(@) MRP woigll & & ekl B

For inferior good, income elasticity of demand is ;
(1) Zero - (2) Infinite
(3) Positive (4) Negative

30
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P aoft 2t agg & R’/ |y & omr A aF 2
(1) g @ e

(3) TS () TR

Thﬂ-lﬂﬁnﬂfWﬁ;ﬁﬁfﬂ}gﬂbﬂ for consumer is called :
(1) Utlity funstion = (2} Indifference curve
(3) lsoproducercurve .  (4) Expension path
SLE LD O SR e —
(1) SwPEn- e (2) T T
(@) whRGE W . @) R 9y

iative dernand for money mainly depends upon ;

(1} _ Income ’ (2) wagﬁs
wee XS & Rl g A s e o @
¢ ekl s =

83.

The demand for a factor of production is derived demand becaiise -
(1) It is a fitietion of profitability of an enterprise

(2) It depends upon the su;piif Cﬁ'w factors

(3) Ttarisesdrom Wﬂﬁﬁand for the final product

{(4) It arises out of meanélbéﬁg-mru; in relation to wants,
T ——

) ‘31 .P_T_.d_
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TH JEEA F A B AN Feg AT HEARn € R
(1) 9% Igq @ AHEEEd & BAd 8

(2) @& g gnEt @ i ox Fsik s B

(3) @E afaw gardl @t HET R Wi enr 8

(4) oTEygEaTel 2 geer § | A BT 8

84. The primary function of the Finance Commission in India is to :

(1) Advice the Prime Minister on financial matters
{2) Prepare the Annual Budget

{3) Make recommendations regarding distribudion of tax between
Centre and States

(4) Al of the above

o # faer orE @ et & P

(1) SarEE @ Bl awEt § e a5

(2) 4R SSTE T4

@) S qur ot B de B ReRer & R 7 R w1
@) sefw @

The concept of "Vicious circle of Poverty” is associated with :

(1] Adam Smith (2] R. Nurkse
(3) Karl Marx f[4) Singer

T B FEE' W M TR §

(1) wew forr | (2) . THE |
(3) @ W 9§ @) RRa
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Equat.mn MV + M'V'= PT was propounded by :

{1} Marshall (2) Pigou

(3) Robertson (4) Fisher
mwu:www-wmmmmrmm?
(1) wwfer g T @ 9 oEm

(3) VEEET B - (4) B a

National iricome in India is estimated by ;

(1) 'Niti Aayog |

(2) Central Statistical organisation

(3) Reserve Bank of India

(4} Ministry of Finance

W # osfia ey w5 ST TR o B
mﬁhmﬂm M) Y QiR STeT arg

(8 el Red 9% am (4) R sEwE AR

Who coined the term 'Green Revolution' in Indig ?

(1) Dr. Manmohsan Singh’ (2) Dr. V. Kurien

(3) Dr. M.S. Swaminathan (4) Dr. William Gade
wRe  eRm wmRY s Rped wahr B 27

(1} =1 wEws s (2) =1. 4. giae
(3) = wRXE. v (4) =1, Ry mS -

Which one of the followitie is not an Inner Planet' ?
(1) Mereury () Jupiter
(3] Mars: . 4 Venus

38 P.T.0.
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91.

92.

ﬁﬁﬁﬁﬁﬂﬁﬁﬂ"aﬂﬁﬁ?ﬁﬁ’ﬂﬁ%?

(1) g (2) e
(3) ¥ ; (4) 9IF
. Mark out the 'Ringed Planet’ !
(1} Venus ' (2] Neptune
(3} Saturn (4) Uranus
gwy e % Akea S
(1) 9% @ a5
3y 9= (4) STHI
Which one is a Sedimentary rack ?
(1} Dolomite {2) Basalt
(3) Marble (4) Gabbro
e wp a9 B 7
(1) Srarge (2) sEwE
(3) T 4) =
Which landform is the result of Erosional activities of river ?
(1) Ox-bow lake (2) Gorge
13) Natural Levees (4) Alluvial Fans

%Wﬁ%mfﬁlﬁwqﬁw%?

(1) TG (2)

(3) wepfcER T (4)

34
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94,

95.

17U/95/ 14(i)

The river Indus represents the drainage system khown as ; -

{1) Consequent (2) Bubsequent
(3} Superimposed (4) - Antecedent

hﬂaﬁﬁamﬁzﬁmﬁ!ﬁrﬁmm% % ¥

N ogadt (2)
8] AR /Sremiife (4) o

Trade winds belt on: bothsidés of the Equator extends -
{1} From 59 fo 30° latitude {2) 60° to poles
(3) 30° to 60° latitude (4) 0 to 5 latitude

Wwﬁﬁfﬁamwiﬂm%ﬁeﬁr%
(1) 5°® 30%amafiar p

(2) e0°smtsr | yar o=

(3) 30°¥ eo° Ty oF

(4) = (srsiden) & seoveisr we

Mmmm@}iﬂmﬁmﬂmm:

(1) North- Pacific ~ (2) North- Atlantic

Pl ottt 4] South- Atlamtis
AR 278 () oo BRI 7 Rey &

(1) S8 s () Sud srewiRes
() =Ryl sramoer @) RN sreaifess ¥
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96.

97.

98.

Which one of the following pairs (regions with-their typical agriculture)
is not suitably matched ?

(1) Rhodesia-Milpa (2) N.E. India-Jhooming
(3) Sri Lanka- Chena (4) Malaysia-Nagasu

e (et ol et R gy & ) gt 3 & B gAka
T& 2 7

(1) e (2) ToJo HIRA-FHT

(3) - (4) FREE-FTY

Mark out the iron ore most important from commercial point of view .
(1) Limonite (2) Hematite

(3) Siderite (4} Magnetite

mﬁmmﬁmgﬁzﬁﬂaﬁqﬁﬁﬁamaﬁrﬁﬁeﬁ
i : .

(1) fRFmEE (2) BHIETET
(3) EESTFT (4) FREET

Who first developed the term Ecology ?

(1) A.G.Tansley (2 F.R. Fosbery

(3) Vornadsky (4) Ernst Haeckel
qiRefE e B e T for fepiera BT 7
(1) o T [2] s, AR Tl
(3) TR ) SHEE R
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99. Name the author of the book entitled - 'Influences of Geographi{:

Enviroment ;

(1) Ratzel Yo {2) Ritter

(3) E.. Semple (4) Huntigon

IR Sftr w4 i gearie M gere B Sew W A
SR | ,

(1) er ) Rex

(3) €4 Sy &) wfeves

100.The total numiber of miﬂlsmmtmam India as per 2011 Censes is in
between :

{1} 21-25 (2) 51-55 [3) 3135 —
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ROUGH WORK
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10.

11,

12.
13.

14.

w;#‘rW-mmﬁﬁm-gmmmmﬁzwmaﬁwuﬁ
ot forsl
dto THo Ao TF WT HTWWE HEA, TeTgE W A R WE (W FE #) T
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1
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